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1. The average price of 80 mobile phones Is Rs,30,000. If the highest'and lowest price
mobile phones are sold out then the average price of remaining 78 mobile phones.ls Bs.
29,500, The cost of the highest mobile Is Rs.80,000. The cost of lowest price mobile lS?
80 TNATESH I A7 QR U 6 30,000 ¥ (AR il MR wprem e @ Avarga w9 R
TR R W A 78 Mage W @1 3T R E 20,500 B SIRIT | sifdremer ey W fapu 2
R AaTge A AT W 80,000 ¥ | WLRA AR W @) 89 Ay warge G @ @I a
BrN? - R

(A) Rs, 18000 (B)  Rs. 15000 -
(C) Rs. 19000 (D)  Can't be determined/fifRew w1&f & wwdl
2, In a Company the average income of all the employees is Rs. 20000 per month.

Recently the company announced increment of Rs. 2000 per month for all the employees.
The new average income of all the employees is?/ TP BU H T HHEIRET B SR g
R WA ® 20,000 § | BTl & H SOl % 2000 SRY FENT O gfy, @l peeRa 2 s
T DAV B R | W R A T s e 2

(A)  Rs.1,22000  (B) Rs. 24000 (C) Rs.28000 (D) Rs. 26000

3. Pranav went to the bank at the speed of 60 km/h while returning for-his home he
covered the half of the distance at the speed of 10 km/h, but suddenly he realised that he
was getting late so he increased the speed and reached the home by covering rest half of
the distance at the speed of 30 km/h. The average speed of the Pranav in the whole
length of journey is? worg ¥& 60 et /Her @ wie W T o ey TR AR B g S
el 1 10 W/Wﬁﬂﬁwmﬁ|mwm%wmﬁwmaﬁmm
vﬂemaﬁ?maﬁﬁgﬁaﬁ'soW/ﬁaaﬁﬁﬁﬁamﬁ@'mt@'ﬂw | o
AT H oG @ e TRy @ ofy? | ‘

(A) 24 km/h/24 5. ufer wer (B) 14 km/h/14 f&d. ufy ey
(C) 16 km/h/16 fore). ufy wer (D) 10 km/h/10 fordt. ufY Eeg
4, The average expenditure of Mr. Sharma for the January to June is Rs. 4200 and he

spent Rs. 1200 in January and Rs.1500 in July. The average expenditure for the months
of February to July is? TSl &1 el & S % &1 sid @@=t % 4200 3 ailk TE B 1200
SR # S 1500 e H @ BRAT B | WX S aB B A b ol et 27

(A) Rs. 2750 (B) Rs. 3250 (C) Rs.4250 (D) Rs. 4500

5. At the end of a business conference the ten people present all shake hands with
each other once. How many handshakes will there be altogether? e @R wR e @ i
#,Guz?ﬁawﬂmmﬁﬁwq@ﬁwmwﬁaﬁﬁlwﬁamm.mﬁmm
fAremmy &7 -

(A) 20 B) 45 (C) 55 (D) 90

6. The average presence of students of a class in a College on Monday, Tuesday and
Wednesday is 32 and on the Wednesday, Thursday, Friday and Saturday is 30. If the
average number of students on all the six days is 26 then the number of students who

attended the class on Wednesday is? ®IaR, #erar aiX geaR @1 wem ¥ Rty Gl
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- SRRy @ il 82 ol quar, dvar, ywar o ufar @0 B E oAl wh ey f,
- forenfefat o). aierer Wi 26 ® A quan o) e 3 suftest g9 arel faenfdut 8 wen g

(A) 50 (B) 40 (C) 60 Dy 70

7. Suresh starled his journay from P to Q by his bike at the speed of 40 km/h and

" then, the same distance he travelled on his foot at the speed of 10 km/h from Q to R. Then
he returned from R to P via Q at the speed of 24 km/h. The average speed of the whole
trip Is: Y0 el = P A Q w6 i args W 4o fd, wfa s @ afa 4 9% wvar 8 st
R v ) aw dawt 10 RN wRY wer @ afy @ Q@ R e au wear & ) R 98 R #
P, Qo Y 24 fwt. afY wier &) iy & argrd awar & | g awn B sl 2

(A) 185kmmh (B) 19.8km/h (C) 18.2km/h (D) 19.2km/h

8. Ramesh walked 6 km to reach the station from his house, then he boarded a train
whose average speed was 60 km/h and thus he reached his destination. In this way he
took a total time of 3 hours. If the average speed of the entire journey was 32 km/h then

the average speed of walking is: ¥ 310 ¥X W WY b UgH @ forq 6 fll, aet Ferm
8 5% a8 vo X A 9% aar & A iR iy e0 ), OfY wer € @ik ag e Tide
I AP U G | § YPR F I8 Fof O 6 b1 G o & | AR gD A B
3itga i 32 fBA), iy -wrer off o Seet e @ offga TR off:

() 5kmih (B) 8kmh  (C) 2kmh (D) 4 kmih

9. Bala travels first one-third of the total distance at the speed of 10 km/h and the next
one-third distance at the speed of 20 km/h and the last one — third distance at the speed
of 60 km/h. What is the average speed of Bala? aren amm @) & gl &1 TH fEE 10
feit wfer wer @ T 9 o orTel ve R g@ 20 bR wfY wer @ TRY W ok onReY vH
forets 60 T, wfer wier Y Y & T wRar & | arem 9 et TRy @ 27

(A) 18km/h  (B) 19 km/h (C) 16kmh (D) 12km/h

10.  The distance of the School and house of Suresh is 80 km. One day he was late by
1 hour than the normal time to leave for the college, so he increased his speed by 4km/h
and thus he reached to college at the normal time. What is the changed speed of Suresh?
W & faemey ok W@ @5 @1 30 80 bl 2 | & 7 78 e oM & R =R By
® AEY G9Y W TE HTT o o A1 I AT TR 4 fHAL Uiy der # &% ¥ 9g ok 59

TRE T8 fdererd oo WM WY W UgY AT | GRY B 9l g5 T @ oY
(A) 28kmh  (B) 25kmih (C) 20km/h = (D) 24 kmih

Y
11.  Anita goes to College at 20 km/h ard reaches college 4 minutes late. Next time she
goes at 25 km/h and reaches the college 2 minutes earlier than the scheduled time. What

is the distance of her school? 3T ®felo 20 fFd). ufy der & TRy ¥ Wex 4 e e
gl T SFTell AR ag 25 fE. URY Her Y Ry & e FuiRe ww ¥ 2 five of ugad
T S Ple B G AT ?

(A) 16km  (B) 12km (C)  15km (D) 10km
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12." * Two places R and S are 800 km apart from each other. Two persons start from R
towards 'S at an interval of 2 hours. Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way from
Rto S. What is the ratio of time taken by A'and B to meet at M? g1 @ RaR S t@ ?'g\q{’
¥ 800 ol ¥ & | Y AR R WS @ R o B forg @) we @ sjaerer § 5 7 5
Safd A, S ﬁqﬁﬁRfﬁﬁWﬁWﬂT%iAaﬁ?Bﬂ:ﬁﬂﬁWW: 40 3R 60 Tl ufa der
g |B, MW AW o e s 2, S 5 R S & v ok & | MR fie & forg A 3R
B fbq srgum & w5 o 27 |
(A) 13 B) 1:2 C) 14 (D) 3:2

13.  Two places R and S are 800 km apart from each other. Two persons start from R
towards S at an interval of 2 hours. Whereas A leaves R for S before B. The speeds of A
and B are 40 km/h and 60 km/h respectively. B overtakes A at M, which is on the way from
R0 S. What is the distance from R, where B overtakes A? &1 w9 R 3R S & gAY ¥
800 fdl gx & |ﬁwﬁﬁRﬁSaﬁaﬁ?aﬁa%$mﬁgﬁmﬁ% | slafés AR &
fere, S @ B & Ry Favert W uger e 21 A ol B S 1 1f et 40 SR 60 Rl

/HSTEIB, M R A H oY e o 2, 5 f5 R S 3 7y v 2 | STel R B, A ¥ A
e ST §, 9 R ¥ f5ah 2 v &2 :

(A) 260 km (B) 235 km (C) 240 km (D) 300 km

14. Ajay covers certain distance with his own speed but when he reduces his speed by
10km/h, his time duration for the journey increases by 40 hours while if, he increases his
speed by 5 km/h from his original speed, he takes 10 hours less than the original time
taken. Find the distance covered by him. sva v e o sl R ¥ o1 ot § W
S9 98 A T H 10 M/Wﬁﬁm%ﬁwﬁwﬁwﬁmﬁémm
%,Wﬁﬁ@ﬁﬁﬁﬂ%ﬁﬁsﬁﬁ/ﬁﬁﬁ%magm%w
¥ 10 HeT FH A T | ISHD g 9 P TS S Jqa?

(A) 1000 km far (B) 1200 km f&4r  (C) 1500 km sy (D) 1800 km f&HT

15.  The driver of an ambulance sees a bus 40 m ahead of him, after 20 seconds, the bus
is 60 meter behind. If the speed of the ambulance is 30 km/h (f5r / HeT), what is the speed
of the bus? T& Tgeld BT dieids U 3T T Y&l 96 BT 40 Hex AT Iw@n £, 20 Yae & qre
ww—cﬁeoﬁa%ﬁ%lﬂ%ﬁgﬁﬂaﬁﬂﬁao%ﬁ[/ﬂaa?ﬁwaﬁﬁm?

(A) 10kmh  (B) .12kmh (C) 15km/h (D) 22 km/h

16. Two rabbits start running towards each other, one from A to B and another from B
to A. They cross each other after one hour and the first rabbit reaches B, 5/6 hour before
the second rabbit reaches A. If the distance between A and B is 50 km, what is the speed

of the slower rabbit? <7 T TH TER & AR €IS X 1 76 A B B 3R @ik 5ov1 B9
A BT R | I8 T Th R Dl T HS WA IR B § AR TEell WRAOT B W, TR D A W
UgTe W 5/6 HSl Ugal UgAdl &1 Il A 3R B & 99 @1 g% 50 f5. § o o are 9
WA BT T T BRI?

(A) 20km/h  (B) 10kmih (C) 15kmih (D) 25 km/h
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17. Pranav walked at 5 km/h for certain part of the journey and then he took an auto for
the remaining part of the journey travelling at 25 km/h. If he took 10 hours for the entire
journey, what part of journey did he travelled by auto if the average §peed of the entire
journey be 17 km/h? wor arn @ v PRea w o 5 @R ufy wer O M A I ww
3 ol R} T8 A9 A B Rig 25 AR, afy der @ TR { o iR Ram dan 3 Al aw g
T @ e 10 ©e AT 8, Y AT @7 faen AT 9w dfte Rawn @ fhan, aR g amsn W

alfge Ry 17 Rl /e 82

(A) 750 km (B) 100 km (C) 150 km (D) 200 km
18.  5,12,7?,41, 87,214
(A) 19 (B) 35 (C) 22 (D) 26
19. 14,72, 13,17.5,21.75
2y 3 ‘
(A) 10 . (B) 12 (C) 125 (D) 1325

20. 15,5,4.5,5.8,7.9,7
. (A) 96 (B) 11.42 (C) 1223 (D) 1074

21.  Find the sum of first 30 natural numbers T 30 WHa GETRI T AFT TALT?
(A) 470 (B) 468 (C) 465 (D) 483

22, 56%of Yis182. What is Y? Y &7 56% 182 &1 @1 Y &1 &8¢
(A) . 350 (B) 364 (C) 325 (D) 330

23.  Which of the following two ratios is greater 17:18 and 10:11? It SURI 1718 AR
10:11 3 | B q9T 87

(A) 17/18 - (B)  10/11 ‘
(C) Both are same @i & ¥ & (D)  Cannot determine IR INSTVIE TS AT

24. In a palace, supplies are available for 35 days for only 75 people. 15 Guasts amve
in the palace for vacation on day 1 itself. For how many days will these supplies be
sufficient for all these people? U@ RIM R Fad 75 Fidadl @ ¢ 35 KAl T SR SIS
2| 99 ©F W gRed @ fog, Ted T 8 15 il or o ¥ | e =D T w aw
9 4 el & o T e e

(A) 90daysfa (B) 11.25daysfm  (C) 42days 9 (D) 22,5 daysRm

SIg?
(A) Rs.14000 (B) Rs. 15000 (C) Rs.16000 (D) Rs.17000
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28." +'2017 India-ASEAN Youth Summit was held from 14th ~ 19th August, 2017 in:
14—19%:2017ww—mwrﬂﬁaﬁwmﬁvmmw o
(A) ' New Delhi & Rzt (B) Mumbai ga% (C) Bhopal #iurel (D) Chennai T

27.  Under project ‘Navika Sagar Parikrama’, which will commence in September 2017,
- ateam of women officers of the Indian Navy would circumnavigate the globe on an Indian-
built sail boat named: Ryefavw 2017 3T, T TR uRepHr & aferta, R 9 WG
srfﬁmﬁu‘faﬁwéhﬁﬁwa%wwfaﬁtrﬁ?m foosr e P wreram 3 997

(A) INSV Durga S (B) INSV Sindhy Rig  (C) INSV Amba aiqr () INSV Tarini GURC __

28.  On August 18, 2017, which Asian country launched its first cyber court specializing
in handling Intemet-related cases? 1g smreq 2017 @, 5 QRRIE A% ¥ gexie waeh Awa
QT B Y S TR e e e oy 27

A) Japan SN (B) China 91 (C) South Korea sféror #iRem  (D)Thailand IEC

29.  On August 18, 2017, Power Grid Corporation announced that it will get a loan of

$500 million from which international financial institution for its various projects? 18 3T,
2017#W%W§Wﬁﬁ?\qm@uﬁﬁwﬂmﬁvmﬁﬁ%qﬁﬁﬁ$m5oo
(A) Asian Development Bank iR e 3o (B) World Bank fiwg ¥ B
(C) International Monetary Fund IR a1 Be (D) New Development Bank = STCIGHE §h

30. Who among the following cricketer has continued to be the world’s top-ranked One-
day batsman in the latest ICC OD] rankings, released in Dubai on August 18, 2017? 18

W,zowaﬁgaéﬁmﬁﬂiﬁwwéﬁiﬁwﬁa@uaﬁwﬁa%ﬁﬁwﬁﬁﬁﬁw
%ﬁmﬂﬁaimwwgw%?

(A) ViratKohli  farie ®ieeh (B) David Warner <fs o=k
(C) AB De Villiers v & f& fiferasd (D)  Joe Root S ¢

31.  Who among the following has won a silver medal in the javelin throw at the first World
Para Athletics Junior Championships in Nottwil, Switzerland? Aefdd, Racores 3 ERES
ﬁwﬁvwﬁ%mqﬁmﬁﬁw&mﬁﬁwﬁﬁﬁmﬁw%ﬁaﬂﬁmﬁmﬁmmm?

(A)  Prince Ahuja fiig GHE\GIT | (B)  Jatinder Singh wiftiex fRig
(C)  Prakash Jaishankar Werer SRIgiaR (D) Rinku Hooda fia gSSl

32. ‘Requisitioning & Acquisition of Immcvable Property (Amendment) Bill, 2017", a bill
providing for amendment to the regulations governing compensation amount payable at
the time of acquisition of immovable property by the central government was introduced in
the Lok Sabha on July 18, 2017. This bill is an amendment to the original act that came

into force in: s w1 # 18 WellE, 2017 I "I W B SARRIET G e 2017 @
mﬁwzﬁmmzﬁmzﬁwgmﬁa&éﬁmﬁﬁuﬁﬁﬂ?ﬁww
ST AT T T | wE fadue g aftRE % TF W 2, Y Wi # e o ‘

(A) 1952 (B) 1951 (C) 1950 (D). 1949
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33. A bill providing ‘for setting up of the Indian Institute of Petroleum and Enargy in
was introduced in the Lok Sabha on July 18, 2017. G=7% 1s. 2017 =

e 7, e dgferm oiik gt ik, i wifde v 3 R v e
T AqT? -
(A). Punjab, t5Td
(C)Telangana QT

(B) Haryana &Ram
(D) Andhra Pradesh afis W&

Tem et —
‘ LIRS N -

The best example of the extinction of species due to man's interventio

34.

AT @ HRY, Yo @ R 89 B qad 991 SR &

(A)  Kiwi 2 (B) Dodo 3R

(C) Przewalski's horse WaeR! Hlg] (D) Bustard <=

4 .
TS =2
S

35.  Which of fqllowing utilises sunlight in a direct fashion? = & ¥ =@ @ =TT
A SUIRT A § B H T &7 )
Photo voltaic cell ~ WaTe diedia ¥af  (B)  Solar thermal cells ¥R %0 SN

(A)
(C) .Bio gas production &g ¥ ScaTe (D) BothA&BT M A&B
36. In ‘Internet’ term WWWW, the 4™ W stands for Sexic T=maen & WWWW, S SNWS
7 a8 g
(A) 'Web (B)  Womm (C) Wreck (D) Wsik
37.  IPv6 addresses have a size of: IPv6 Tdl BT IR &
128 bits ~ (C) 256 bits (D) 512bits

(A) 64 bits (B)
The Constitution of India recognises: ¥IRd SfaETT AIal ar g

i TR B
ties gifi®, 4@ IR TR TS o

39.  During which of the following Mughal Emperor’s rule, number of Hindus employsd
by Emperor’s Administration was the highest? o T TN @ TRAe 3

T AT
ST BT Sy fRgait @ IR fer T &

(A) Humayungdar] (B) Akbar @&
(C) Shahjahan wmgsTel (D)  Aurangzeb NS

The Mansabdari system introduced by Akbar was borrowed from ths systst

38.
(A)  Only religious minorities Paol
()  Only linguistic minorities A
()  Religious and Linguistic minorities
(D) Religious, Linguistic & Ethnic minori

{

54 &,

40.
rollowed in/erPaR GRT I @1 T8 AR worr &l g o -
(A)  Afghanistan SR (B) Turkey T

(C) Mongolia #Tifera (D) Persia T
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A Who amang the following is said to have wilnassed the reigns of eight Delhi
Sultans? fer ¥ A A Rl @ i gerd O aw g sl s o §?
{A) ZRauddin Barani Ry g (B) Shams-I-Siraj ARf am1—§—RRRT I
(©) Minhaj-us-Sira) Rae-wo- R - (D) Amir Khusrau 3R TRIRT :

42.  The Fresident of India referred the Ayoadhya issue to (he‘Sup'remeuCourt under
which Artidle? WIRT & URURY 3 v frare ™ Ry arqedg @ ofmfa aweda piw B 3

VW W T |
RS ® 132 (C) 138 (D) 136

43.  Right to privacy as a Fundamental Right is implied in Tias\er @1 sfer w6 @ifers
INTR D we ¥ anf J\wr
(A)  Right to Freedom wrixar w1 aftvew

(8) Rightto Life & Personal Liberty Wiee ik el wanfisan @1 afrer
(C)  Right to Equality SHmr &1 SiveR ‘

(D)  Right against Exploitation sivwr & Reg saer

44 The interval betwesen two sessions of parliament must not exceed ¥e& & & A B

T I IS TN INT =85 S qhiey

(A) Smonths¥iE (B) 6months®®  (C) 4 months 51 (D)

45, ‘x\'-\'ith Leiefenc’;e to inflation in India, which of the following statements is correct?

WRG = R0 © Sed A, =i @ § @ 39 W oo T8 87

(A) Contrqlling the inflation in India is the responsibility of the Government of India only

HRG 7 JS1 WDIN MEAT NS RT NRaR @ et € |

(B) The Reserve Bank of India has no role in controlling the inflation R&d d% 3%
SIS G WG D MR $ § DI el T8 8

Decreased money circulation helps in controlling the inflation ®edr a1 TR,

100 days f&=

© |
TRISIG @I a oxal §
(D) Increased money circulation helps in controlling the inflation ST JaT IR,

Which of the following brings out the 'Consumer-Price Index Number for Industrial

46
s? = 3§ o oEife sl @ oy Swied (o qE@ie aan g ?

Worke

(A) The Reserve Bank of India R ¥& sii® sfear .
(B) The Department of Economic Affairs 3TRi® ARell &1 faumT

(C) The Labour Bureau sifi@ &1 ‘

The Depariment of Personnel and Training ®1H® Td W01 fmeT

(D)

47. ‘Golden Revolution' is related to vl iy Wefd

(A) Precious minerals g9 @i (B) Pulses Tl

(C) Jute ¥ (D)  Horticulture IFTIFY
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A country is said to be in a debt trap if T W B U D TS F BEI Tel o § Ay

(A) It has to abide by the conditionalities imposed by the International Monetary Fund
T ST TR O N Wik nfies @ A @ (g 9 @

(B) It has to bomrow to make interest payments on outstanding loans 98 9®m1 o1 &

W TN © T SYR & :

(C) lthas been refused loans or aid by creditors abroad ¥l SFaRT ERT #°T R #ag
® ¢ 5 o s g @

(D) The World Bank charges a very high rate of interest on outstanding & new loans

R 99 77 dR o 0 W 90 o@ N W A Sge 8

48

a9.  With respect to GST, consider following statements GST & wied # T &l W faar &%

Reduces cascading effect =us woE 91 $9 oXaT & |

Is a comprehensive indirect tax I8 & T IS X & |

Aimed at forging a common domestic market 3IF TR IR $T UAR SYT ST Tl €
Alcohol and petroleum are exempted from GST a1 @R ¥gier 1 GST 4 §E W< 8

(B) 2,3comect¥@ & .
(D) All the above are correct T4l el &

w10

(A) 1.2 3 comect §a &
(C) 2,3.4comectEsl &

s0. Indi@'s cumrent account defict in Balance of Trade is mainly due to ARd & AUNIR
S SR Rl ® o I 9 S ¥ A ol 11 B IS 3R &
(a) Increasing imports of oil and petroleum dd AR Agifera @ A A gfE
(b) Increasing imports of gold and silver EIRESIN T & A ¥ gfg
(c) Increasing imports of food grains Tl AT @ AW A gl _
(d) Increasing imports of iron and steel g &R s @ I 9 9f&E
A a), (b) and (c) (B) (a)and(c)
EC% gag a(nc)i (b) (D) (a)and (d)

51. Find the minimum number of straight lines required to make the given figure.

mmw%@mﬁmﬁmwﬁmmmﬁwm?

(A) 16 |) 17 (C) 18 D) 19
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Is,. .
Which of the following figures best deplcts the relationship, among crimina
thieves and judges? F= Rl 7 @ amwiferd, wRT ol =yraefet @ dra @ e d

7 wdse A ovar 87 {2

@C?Qoo '

(d)

52.

A) ® b . © c .. .0O,d

53. Find the number of triangles in the gfven ﬁgu_;rel'»;, " '

S ST Y Yefe ¥ Al @ wer gy
A) 18 (B) 20 ©) 24 D) 27
54.  Of the following two statements, both of which cannot be true but both can also be
false. Which are these two statements? fr7 7 Tomt § W, &1 < HUF G 81 81 Fdhd
EWRGEI AN T TP € | @A pom B T &2 . ,
T 7 oiR e %‘

I. All machines make noise

Il. Some machines are noisy @Y 79 UR ool &
lll. No machine makes noise BIg A1 7T IR TE P §
IV. Some machines are not noisy 7Y 7Y AR TE A §
(A) &I (B) &IV (C) 1&Il (D) & v
55.  Insert anthmetlcal signs in the equation for it to be correct 8*4»2 =16. .
842= 16Wﬁwm$%?ﬁwﬁﬁ%ﬂmﬁ%ﬁu%aﬁaﬁﬁﬁmm?
(A)  +x B) -+ C) =+ . (D) =
56.  Ifafd 84x13=8, 37x13=6, 26x11=6, then f 56x22=? e
: . . . 3 Y ~2
(A) 3 B) 5 Cc) 7 D) 9
e 5.

10
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57, If + means divide, x means =, + means multiply and — means plus, th“en'ﬂhq the
value of 9+3+4-8x2 U + wr ot} R x st amwel -, + @1 el Ty iR — W arl S B
WMOBMBX I/ 8Xdy@en B Zxypyon TI20 4

(A 15 @) 17 (C) 18 (D) 20

gg.  Find the next term of the sequence 1, 8, 4, 27, 9, ... 5% &% fa=m 5 amT T
el WAL WA e Vo et g g

w8 (B) 9 (Q.- 64 (D) 16

59, David divides 78 by half and adds 11. What number he gets at the end? 2Rz 78 @
I W NET ARD 11 S ¥, W kN g i e ane?

(A) 50 B) 44% (C) 167 (D) 83%

80. In a knockout football competition 23 teams participated. What was the least
number of matches they needed to play to decide the winner? U “Hfm—airee” wead

gﬁmﬁmﬁzs‘é\ﬂ\‘ﬁnmﬁmlm‘é\nhfrﬁrhﬂrmﬁvhaﬁ%%mmﬁmﬂmﬁﬁa
T R ?
(A) 11 (B) 21 (C) 22 (D) 62

61.  Athalf past5in the evening, the smaller angle between the hour & minute hands of

aclockis\’lmﬁS.SOW.F@H?@WWEFHTTETH?WWWW@W%

A) 10° (B) 12° (C) 15° (D) 18°
62.  Fillin the blanks Raw = AR BA_BA_BAC_ACB_CBAC

(A) AACB (B) BBCA (C) CCBA (D) CBAC
63.

Angles of a given triangle are in the ratio of 2:3:4. What kind

of triangle is the given
triangle? fXT Y @t ¥ Fon @ o 234 ¥ fear T B fae usR @1 B 37
(A) Right-angled W@ (B) Obtuse angle . aif& @Yo
(C) Isosceles THfgaTg W (D) Acuteangle = ®o

64.  The houses of A and B face each otheron ar

the western side. A comes out of his house, turns left, travels 5'km, turns right, travels 5
km to the front of D's house. B does exactly the sam

e and reaches the front of C’s house.
In this context, which one of the following statements is correct? A IR B & TR Ia—
a&maﬁsﬁqwﬁgﬁmmm%@%mﬁwﬁﬁm%ﬁmﬁAmmWﬁ

oad going north-south, A's being on

(A)  CandD live on the same street. C 3R D 1o & Wes w8 vas &
(B)  C's house faces south. C &1 =) TfRyorget &

(C)  Houses of C & D are less than 20 km apart, C &k D % wx 20 R SICL R R
(D)  None of the above SWRw 3 ﬁ?
S U

V)
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2
=
"
W

= /-"' 2
BEH, DGJ, (?), EJO, GLQ, INS, ?
FLR (B) FIs (C) FKO (D) FIL sy T D
H:‘\‘;s G.;‘?‘ .F' R' —E;:.’,;’ ? i -V f Van @
KL (8) D.N C) C.D D) LK
43:10::8:7 |
10 (B) 13 (c) 17 (D) 14

™ is wri is wri RE is vritten
s 8. If TOUR is written as 1234, CLEAR is written as 56784 and SPARI
N 25 90847, find the code for CARE = TOUR @1 1234 forar il & CLEAR @ 56784 fordl

WAl € SR SPARE &t 20847 a1 it & @i CARE &7 @i udl a¢ ?

O @ 1247 (B) 4847 (C) 5247 © 8847
< ALAN IRCULAR
~ 83.  CALANDER is coded in a code as CLANAEDR. Find the code for C e =
~Zunder the same rule. Widiie @ § CALANDER @7 CLANAEDR forar @il & | 9
9aITeR CIRCULAR & frar s
(A) LACANDER (B) CRIUCALR o ,
(C) CLANADER (D) None of these Swiad 7 ¥ @IS T8l
70.  (a) Either he is happy or he is poor. a7 F 98 G E 9198 R © | /‘a7 %\-\
(b) Heis happy. ss gr & 1 : oA /L/
Inference : He is poor. 3194 : 98 819 & | b
(A) The inference is definitely true AT Piad: 9 § e S48
(B} The inference is definitely false M Yuiaa: T &
(C) The inference is probably false or true AT HHGq: I AT 9T §
(D) The inference can not be drawn A & FieTer Wi G@ar &
7L (a) Those who are honest are good teachers. ST $FER &1 &, 91 o RE® 89 &)

(b) Hard working people are honest &=l @IT $9MER B &1
Inference: Hard work is the necessary quality of a good teacher.

ST : TE IS 95 REe o Avs T § |

(A)
(B)
(C)
(D)

2.

The inference is definitely true A  Joigs: 97 &

The inference is definitely false 37 uic: arTer &
The inference is probably false or true AFHM GHAd: I AT 9 B
The inference can not be drawn 3aF =& FiaTer W Goar g

Based on the following statements, which is the cormect conclusion drawn.

ISt TS TECT ] A N B IR W HF G 98 758 o o
Only gentlemen can become members of the club. Many

AT 27
of the members of the club are

officers. Some of the officers have been invited for dinner. Saa NSO IRY 09 ® 9oy

§9 990 © | JUDIT 769 >

N
vidl &

{A) All the members of the club have been invited for dinner Tig & Wi e 9 vy

12
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Sre R Sy R wa | iy

%““§°f the officers are not gentlemen & TR 10T OIT JoU TE B

\ {genﬂgmen are members of the club Wil WwEF oY o & T 8

Qnily gentiemen have been invited for dinner Hae oo qett F UM 9 R AR

Ry w @

®
@

@)

N ;?%\\3313\\3 ?*ﬁgml xherg are husband, wife, two sons and two daughters. All the ladies were
R 10 & dinner, Both sons went out to play. Husband did not return from office. Who

was &t home? T R § uft, wed, @ g sl @ gfi ¥ | @f aRed @ b

SN oY | g ST WO T A | oy e § wer W e | R W A ?

@A) Only wife was at home 379 U&lt R W o

&) Allladies were at home W0 AT W w off

(C)  Only sons were at home 7 T R R A

O Nodody was at home TR W 3 578 o

2 NAixthesonofQ Qand are sisters, Z is the mother of Y, P is the son of Z, then

2

ghﬁ\;’\ of the following statements is correct? X A, Q ¥ TA 2, Q 3R Y 9&1 &, Yo 7 Z

£

A RIZE T YA QPN W P |8 7Y

\i\\ :’ S mec‘temal und‘e of A PABIHMI S (B)PandY are siters; P 3R Y Cra
({O) Aand P ere cousins; AR PR € ¥ (D) None of the above; $7H BIg 7RI

u’?. ‘There are 5 books A, B, C, D & E placed on a table. If A is placed below E, C is
oizcad sbove D, B is placed below Aand D is placed above E, then which of the following
hooks touches the surface of the table? & st W 5 Twd W1 T € afd A BT E @ A
= T %,C.ﬁoa%mwm%,BaﬁA%ﬁ%mm%,DﬁEzﬁwwm
DS D T I D O D W A € 7

1

@ C B) B € A (D) E
75. ‘Todecamp would mean:

{A) Toremove tent "~ (B) To evict campers

(C) To decrease pressure (D)  To leave suddenly

77.  Which pair is wrongly matched?

(&) Discreet: Separate (B) Gamut:Whole
(C) Exacerbated: Increased (D)  Allude :Escape
78.  ldentify the correct pair:
{A) Elude : Dodge (B) Allude : Escape
{C) Forbear (D) Latter : Afterwards
73. A devil's advocate would be:
{A) Anevil person (B) A counter argument presenter
{C) Advocateofa criminal (D) Unregistered advocate
13
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80.  Satish heard it from the horse's mouth means: '

(A)  From an authoritative source (B) From a close friend
(C)  From the closest:family member (D) From his boss *«- ' "

81.  Satish is seated Sunita. =~ i - t
. s

(A)  Besides (B) Beside (C) Clearly (D) Close

82. ldentify the incorrect pair: '

(A) Moot :Debatable * (B) Singularly:lndividually

(C)  Regimen : Prescription ' (D) Sever: Detach

83. ‘I haven't studied a lot lately’. Here, ‘lately’ is a/an-

(W) Advers  (B) ' Adjective © Noun (D) Prepositor
84.  Which sentence of following is correct?

- (B) "The meeting start
Lightning Strli§§ n

(A)  The flowers was arranged carefully. p.rorr_Ipt_ly ?;1 1-00'
(C) ~ Computers save time. : (D) d'?C“W'f!a Y-

85. ldentify the incorrect senténce:

(A)  None of the minutes was wasted.
(B) None of the time was wasted. -
(C) Is any of the pizza left?

(D)  None of the above.

86. Among the two statements:

(i) Either Satish or Sejal takes out the garbage.
(i) Each of these prescriptions have side effects. -
(B) (i) is correct, (ii) is incorrect

(A)  Both are correct
(D) Both are incorrect.

(C) (i) is incorrect, (ii) is correct
87.  Choose the sentence that has incorrect form of words: - -

) When will you bring you're pictures to work?
) Itis your responsibility to go into details.

) If you're planning to attend, do let me know.

) None of above. ~

her speak on Friday night about the advantages of organic gardening.

(B) would hear
(D) will hear

88. |

(A)  will have heard
(C) would have heard

89. Choose an incorrect/incomplete sentence:

(A)  The children in the park, including all those on the swings.
'B)  Sarita is an excellent school teacher. |

She couldn’t believe the premise of the story.
| saw Dr. Ghosh because Dr. Khan was on leave.
14
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90. Whatis not correct if ‘nest is ta bird'? - . -

(A)  Hangar is to aircraft . .. (B) Vaultis to money

(C)  Orchestrais to music . | . (D) Wine is to bees

91. The exact opposite of ‘Lascivious' would mean: ;
(A)  Devoted (B) Chaste . (C) Fluid (D) Manifest

92.  ‘Repercussion’ would mean:

(A)  Reaction - W (B) Concussion

(C) Recollection e (D) Clever reply

93. ____ togooutto an Italian restaurant tonight? . ..

(A) Do youlike. - . (B) Are you liking

(C)  Youlike (D) Would you like
94 Excuseme, __ time please?

(A)- Youhavethe el 0 (B) What is

(C)  Have you got the (D) What

95. He likes reading. He was a reader. (Fill in {he best fitting word)
(A)  Anxious (B) Enthusiastic  (C) Voracious (D) Fervent
96. | remember my sister taking me to the museum.

(Choose the best fit among the alternatives)

(A) | remember | was taken to the museum.

(B) | remember being taken to the museum by my sister.

(C) | remember myself being taken to the museum by my sister.
(D) | remember taken to the museum by my sister.

97.  ‘To make a clean breast of’ means:

(A)  To gain prominence (B) To praise oneself
(C)  To confess everything (D) To destroy everything
98. ‘To be above board’ means:

(A) To have a good height (B) To be honest

(C) Tohaveno debts (D) To be beautiful
99.  That which cannot be corrected means:

(A) Unintelligible (B) Indelible

(C) lllegible (D) Incorrigible
100. State in which the few govern the many is called:

(A) Monarchy (B) Oligarchy

(C) Plutocracy (D) Autocracy
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